D— j = INSTALLATION INSTRUCTIONS
=aA — DODGE TRANSMISSION FILTER EXTENDER

=
PEIFOIMANCE PART # 14010
Please read these instructions completely before beginning installation
KIT CONTENTS TOOLS NEEDED APPLICATION
QTY. DESCRIPTION  QTY. DESCRIPTION 5/32” Allen Wrench Dodge / Chrysler
1 1” Spacer Block 3  #10 Flat Washers Torque Wrench

Transmissions

1 O-ring 5/32” Allen Socket A727 A904. A518 & AG18
3  10-24 x 2 1/4” Bolts Lint free rag ) ’
3  10-24 x 3 1/2”" Bolts

REMOVING TRANSMISSION FILTER

1. Using the proper tools, remove the bolts holding on the factory filter.
Note: Be careful when removing because the filter will still have fluid inside.

2. Disregard factory bolts.
INSTALLING FILTER EXTENDER

Note: It is recommended to replace the current filter with a new Transmission filter.
1. Using a lint free rag, wipe the oil off the valve body mounting surface.
2. Install the O-ring provided in the groove of the 1” Spacer Block.

Note: The kit includes two sets of bolts that will accommodate the four transmissions listed above, you will not use all
bolts supplied.

3. After determining which length bolts are necessary for your transmission, install the bolts through the provided washers,
through the Transmission Filter, through the 1” Spacer Block and then hand tighten onto the valve body.
(See Diagram #1)

4. Using a 5/32” Allen Wrench, tighten the bolts.
5. Torque the bolts to a maximum of 14 inch pounds.
6. Install transmission pan and fluid.

—
— D
S WA NN L SRNAY
= . ND VAN NS S S NavA
S SN OOTOOUSSSS S oo Al
S SN SASASTI NS TSRS
AEERSSSSSSISOSTo i

Transmission

1” Spacer Block

I
I I
/:/e | | = 3 Mounting Holes
O-ring | | .
I

Fiter — O

(Not Included)

#10 Flat
Washer

10-24 x 2 1/4” Bolts or
10-24 x 3 1/2” Bolts

Diagram #1

Derale Performance, Los Angeles, CA ¢ 800.421.6288 ¢ www.derale.com

14010-InstructionSheet



